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1. 997 O &l &0 BT & T, HUAT ST U GRaswT ofiT 7. TH. 81
IA-TAE Y ST B IR Ghifvad wi T
— 97 YA BT o7 TH.X. I3 &l A G&d1 THH ¢ |
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2

e
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TR | TlE wre B % Ui e 9e 39 d9g ¥ fed o <)
Fmufe ux feramy 1€t fomam st | 36 g sreedt SoRary gem)
Before attempting the question paper, kindly check your
Question Booklet(QB) and O.M.R. Answer Sheet and
ensure that:
- Serial number of Question Booklet(QB) and OMR
Answer Sheet is same.
- All pages and all questions are properly printed
In case of any discrepancy/defect, the candidate should
immediately report the matter to the Invigilator for
replacement of Question Booklet(QB) and OMR Answer
Sheet. No claim/objection in this regard will be
entertained after five minutes of start of examination,
candidate will be liable for the same.

2. SNUAAR SOR-U9% & U fw o aft frdar o
Read all instructions on the reverse of OMR Answer
Sheet.

3. SNTHAR STH—TF% TR Had il SId @15 U B YA &Y | HIT,
STHS ST & STIAT U G 3T 3T TABIY TEY &7 F
Exdl
On OMR Answer Sheet, use blue ball point pen only.
Please, fill your Roll No. and other information correctly
in OMR Answer Sheet.

4. af e usT % fow U ¥ o1faes ST sifehd fopd <1l € o 99 Tad
T AT SR
If more than one response is marked for a question, it
would be treated as wrong answer.

5. ud® 9T ¥ Ui faser/ i €1 wed IR s/ i (A), (B), (C)
3t (D) Suga I & Gafda ¥ ofx dfaat faseu/mar “(E)
‘STTANT 99T | HR 7
Each question has five options/circles. First four options/
circles (A), (B), (C) and (D) are related to appropriate
answer and fifth option/circle ‘(E)’ is related to ‘Question
not attempted’.
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Tarepea /M @Y T S| @1Ee I & AT SR AfE srwredt fopedt wew
T SR TE 31 Aredt & A e fased/ e ((E)’ @Y T &
B
To indicate the correct answer, the candidate has to fill
in only one option/circle (A), (B), (C) or (D) with blue
ball point pen for respective question number on the OMR
Answer Sheet. If the candidate does not want to answer
any question then the fifth option/circle ‘(E)’ should be
darkened.
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Do not open this test booklet until
you are asked to do so.
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1/3 part of the marks will be deducted for the questions,
if none of the option/circle options are darkened.

8. A% T SR I YT &k T 1/3 WRT e S| Ted sl §
A S5 T AT Fopell U9 & b & 3fersh Sk 4 &1
1/3 part of the mark(s) of each question will be deducted
for each wrong answer. (A wrong answer means an
incorrect answer or more than one answers for any
question).

9. 10 wiaeta ¥ stferes weml & foRal Y ferepea /et 0l o193l 11 T8
TEl foman T @ IW alien & g e St ) e st
If a candidate leaves more than 10 percent questions or
does not darken any of the five options, he/she will be
disqualified for the exam.

10. a1 @l Y TS & foTg 7 & & U ferehen/ i w7 & A1 e
T giifyad & & fag 10 fire sifafia fog s
Candidate will be given 10 minutes extra to make sure, if
he/she has filled up any one option/circle for each
questions.

11. afe g7 & fe=it A1 SISl W@hTor § qE01 AT G Ui ol fhal
ol YR Bl ST AT &, Tl STST AEhTT i Sifer W smem|
Ifthere is any sort of ambiguity / mistake either of printing
or factual in nature in Hindi or English version of
questions, then the English Version will be treated as final.
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1 Find the value of (2 Median - Mode) of the data 5, 3, 8, 11, 13, 8, 19, and 24.
205,3,8, 11,13, 8, 19 3 24 H & (2 Hrfearehr (fHfeam) Aiga ds) 7 J1d hifsT:
(A) 8 B) 9.5
(© 10 (D) 11
(E) Question not attempted / @@ﬁfﬁ EEl

2 If a 40 m ladder is placed against a 203 m high wall such that it just reaches the top of the wall, then
the angle of elevation of the top of the wall from the base of the ladder is
AfE 40 Hiex Tl W BT 204/3 Hiex el SR F HEE 39 TR & T S foh 98 e o v @k age
ST, T Tt o SR & <A o IS i SHaTs 1 10T 2
(A) 30° (B) 45°
(C) 60° (D) 50°
(E) Question not attempted / @gﬁﬁﬁ T

3 The value of {(8—5) + {(4—2) + (2+%)H is -

o faopf o

13 15
A) — B) —
(A) T (B) T
15 13
c — DY —
(©) 1 D) 20
(E)  Question not attempted / 37 a9
4 “Operation Flood” was associated with:
(A) Disaster Management (B) Green Revolution
(C) Pink Revolution (D) White Revolution

(E) Question not attempted

“HTNIE FAS”  graiferd o

(A) AT Jawad (B) ®frashifa
(C)  Terrsit shif (D) & shifa
(E) rgafaus
5 Which one of the following is NOT an agricultural problem of India?
(A) Small size of ploughing plot land (B) Encouragement to organic farming
(C) Lack of irrigation facilities (D) Decline in the land Fertility

(E) Question not attempted
frafafaa A @ wm € a1 vk iy gwe T8 2
(A) SIATS 9H % T BIS TR & TS (B)  ifereh el =Rl e
(C) TH=s glerarstt &1 e (D) ¥f <1 3aear # Frree
(B) Irgafaus
L91] el 2 [ P.T.O.



6 Which of the following statement is NOT correct about the foot loose industries?
(A) It can be located in a wide variety of places
(B) They are dependent on specific raw material
(C) They produce in small quantity
(D) These are generally not polluting industries
(E)  Question not attempted
S A o o # frrefotfiad & & i 1 e ad A 22
(A) I8 fafSrT venr o Tt ot feord B HepaT B
B) Iy = w i wad
(C) o I 9T H ST id &
(D) 3 JENT ATHIIA: ST e et §
(B) rgafta

7 Koraput Mining Centre is located in which of the following state.?
(A) Andhra Pradesh (B) Maharashtra
(C) Karnataka (D) Odisha
(E) Question not attempted

IS G g (1 1 § forg T o e 22

(A) ST (B) WEWT
(C) wleh (D) e
(E) S¥aiea g

8 Who is known as the father of the Indian Constitution?

(A) Jawahar Lal Nehru (B) Sardar Patel

(C) Mahatma Gandhi (D) Dr. B. R. Ambedkar
(E) Question not attempted

R TfeT o STeh o &9 § fohl ST ST 22

(A) SR AT E% (B) WERTH

(C) WRTeAT TMieft (D) ST, 3Tt
(E) SFdiea o

9 Which of the following fundamental right allows, citizens to move the court, if they believe, that any
of their fundamental rights have been violated by the state?
(A) Right against Exploitation (B) Right to Equality
(C) Right to Constitutional Remedies (D) Right to freedom of Religion
(E) Question not attempted
frferfiaa o & = ar ifcren StfeeRm ARt st =mener § ST o s1af <a &, afe 3= e 2 o e
ST 3ok Toreft Hitfereh aTfereRm <At & e T 2-

(A) IOT o foreg SAfRERR (B) HHTAT AT ATIRT
(C) Gorefish U= &1 TRIFR (D) & Sl Tac=rar T ARIFR
(B) Irgafaus

L91]| et 3 [ P.T.O.
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Which of the following is a demerit of Capitalistic economy ?
(A) Increase in production capacity and efficiency

(B) Economic liberty

(C) Rise of Monopolies

(D) Optimum use of resources

(E) Question not attempted

ffeaRiad o & =i 1 Sarel 37ef SRl 1 3Fao 82

(A) 3CATEH oh F&IT ST &7 H Jfeg BHT (B)  3Tfeieh Tordsrar

(C) UHITEIHR HT 36 (D) GHETEAT T HETTT JART
(E) SFgaiea o

Four resistance 1€2,2€ 4€ and 4Q) have been joined in a circuit to obtain lowest resistance of the
combination of the four. Its value will be :

IRACAT 1Q,2Q,4Q 3T 4Q I TAISH T T8 HH TTIe I L o [T =R 1 Tk dlehe § SET
AT & ST TROITH BRTT:

(A) 05Q (B) 025Q

© 1Q D) 150

(E) Question not attempted / a@ﬂ'ﬁﬁ 99

The gap between two neurons is called a -

(A) dendrite (B) synaptic cleft

(C) axon (D) impulse

(E) Question not attempted

31 iF3roRT HITITRT ok He W T ohT hed B--

(A) g (B) feRftes Fiwe

(C) T (D) ¥R

(E) Irgafaus

Identify from the following statements which are true for carbon compounds:
a. They form long chains of carbon atoms which are arranged in branch and ring structures.
b.  They are good conductors of electricity.

c. They have high melting and boiling points.

d.  They form covalent bonds.
Choose the most appropriate answer from the options given below:
(A) aandconly (B) aanddonly
(C) a,canddonly (D) a,bandd only
(E) Question not attempted
3 Y T TEHT S SATfh HTei ANTTRT o fIT a1 2:

a. o ST TRATIST T el T ST & ST AT ST o SaTst § Safeerd 2id &

b, 3 fore o7 e B B

c. ok eI ST FALHTE 3T BId 8

d. I UL G Y oA &

it T T foreredt # @ wifeeh S 3Tt I

(A) Fada AN c (B) whadta3iid
(C) Faca,c3d (D) Hada, b3 d
(E) S¥aiea g

et 4 [P.T.O.



14  Gangaur festival is devoted to -

(A) Goddess Lakshmi (B) Goddess Parvati
(C) Lord Ram (D) Lord Krishna
(E) Question not attempted
TURTI qd T B
(A) ot et (B) <t Ut
(©) WHEHIH (D) YA FS
(E) SFdiea o
15  Lacchiram is related to which folk drama art?
(A) Jaipuri Khayal (B) Hela Khayal
(C) Kuchamani Khayal (D) Shekhawati Khayal

(E) Question not attempted

oI TorE ek -TTEeh/shall © GFsiferd 22

(A) SII T (B) BT @ATA
(C)  FHEmHult AT (D) IEEd TS
(E) SFgdia o
16  In which of the following city iron and steel plant is situated in Karnataka?
(A) Durgapur (B) Bhadravati
(C) Salem (D) Burnpur

(E) Question not attempted

frfafaa i@ wmies * forg wret A wite-gedrd des e 22

(A) FUE (B) el
(€) & (D) HE
(E) SFgdiea o
17  Who gave the famous speech ‘Tryst with Destiny’?
(A) Mahatma Gandhi (B) Pt.J.L. Nehru
(C) Sardar Vallabh bhai Patel (D) Dr. Bhimrao Ambedker

(E) Question not attempted

frefag AE=Ci (Tryst with Destiny) Jf&g 9T forem feam?

(A) WETCHT Tieft (B) U IUAIEE
(C) TER Jeaty WS Ued (D) . e srigat
(E) rgafaus
18  Ability of the eye lens to change its focal length to see objects placed at different places is called:
(A) Power of Vision (B) Power of Accommodation
(C) Power of Adjustment (D) Power of Regulation

(E) Question not attempted

hIhet gL i TR feia i sht = i shi exwrert forer ferfer= o ot Teft sl shi <t ST Hehell 8, FEetrdl
H

(A) I@A T 31fh (T 3T fars) (B) HHSH GTHAT (AR 3HT% ThHTHISI)
(C) WTHSIET Ttk (UTaR 3TH UESRHT) (D)  Torfrerm ek (AT ST T[eier)
(E) ¥ g

L91]| et 5 [ P.T.O.
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Short- Circuiting occurs in the circuit when

List-I1

Unit of Measurement
Ampere - second
Volt - ampere
Coulomb/second

Volt/ampere

Heit-11
HTO ST 3T
T - Hehg
e - TRt
FATH/EHS
Sle/TrTER

a-IV,b-1ll,c-1,d-1I

(A) Flow of current in the circuit reduces abruptly
(B) Many appliances are connected to the same socket
(C) Live wire and neutral wire come into direct contact with each other
(D) Neutral wires of two appliances are connected accidentally
(E) Question not attempted
gihe d H%—H‘C%%T (circuiting) ds BIAT & ST -
(A) UTTaer T €T <Rl YaTE 3Tk A &l ST &
(B) S IUHIUT Uk &1 |Tehe H I3 Bl 8
(C) TEe A A =g A Uk o | el Heh H 377l &)
(D) 21 3TV oh =gt TR Tkt § Toh g o I3 T &l
(B) rgafta s
Match List-1 with List-1I
List-1
Physical Quantity
a. Current L
b.  Resistance II.
c. Power III.
d.  Charge IV.
-1 ! F=-11 | gafora i
Tel-1
wiferes AT
a.  TeE@um™ L
b.  wirIEeRdm IL.
c. TRk 111
d. 3T Iv.
Choose the most appropriate answer from the options given below:
et fow T ferpedt # & wafeer 9 ST T ;
(A) a-NIILb-1V,c-1I,d-1 (B)
(C) a-1V,b-Ill,c-1I,d-1 (D)

(E)  Question not attempted / 3T q9g

a-lIILb-ILc-1V,d-1

Which one was the first geostationary satellite launched by ISRO in 1981?

(A) INSAT-B
(C) APPLE

(E)

Question not attempted

1981 ¥ $&I (ISRO) ST W& Tt T o e 393 & |7 o2
(A) INSAT-B (378l
(C) U (APPLE)

(B) Irgafaus

Q

@l%;@

(B) Aryabhatta
(D) GSAT

(B) mwg
(D) 8T (GSAT)

[ P.T.O.



22 Ozone layer of the atmosphere acts as a natural shield against:

(A) Infrared radiation (B) Gamma radiation
(C) Ultraviolet radiation (D) X-rays

(E) Question not attempted

FRIHST T SIS T FTh{Ih BTt o & H o foreg = i 2
(A) e faferror (B) T faferor

(C)  Fegmamce (s faf (D) @Y

(E) SFgdiea o

23 Given below are two statements:
Statement (I): The feeding of cattle should be carried out in a scientific manner-with special emphasis
in the quality and quantity of fodder.
Statement (II): Milk yield is primarily dependent on the quality of breeds kept in the farm.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are correct.
(B) Both Statement (I) and Statement (II) are incorrect.
(C) Statement (I) is correct but Statement (II) is incorrect.
(D) Statement (I) is incorrect but Statement (II) is correct.

(E) Question not attempted

Fier gt e few U €:

AT [: TYHT T SATEI ST ieh © Toram STHT =y, Fores = =l urer {1 AT o forey ST fear
ST =Ry

HAT 11: T 1 YT T &9 U I H T T el 2hl orerel 9 - et 21

ST FHUT o SN H A TINRET Toshedl H & T e U 3L o :

(A) T (1) 3 (11) 391 T B (B) & (1) 3 (I1) ST 316 B
(C) = (1) e 2 fohg e (1) 3 2 (D) % (1) 39 & fohe o (1) H 2
(B) Irgafaus

24 \/90+,/90+./90+? =9

A 9 (B) 10
(C) 18 (D) 20
(E) Question not attempted / 317\-!)3'&?[ 9

25 If two numbers differ by 24 and their product is 112, then the sum of the numbers is :
Afe 31 HEATST H 24 1 SR 2 7R 37T TIFGA 112 2 1 ST T AT 2 -
(A) 28 (B) 40
© 32 (D) 36
(E) Question not attempted / 3‘!@?’?{?[ e

L91]| et 7 [ P.T.O.
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A started a business by investing ¥ 1,00,000. After 3 months, B joined him with certain investment.
At the end of the year, out of the total profit of I 1,80,000, A received ¥ 36,000 less than B as his
share in the profit. How much investment was made by B?

AR 1,00,000 o1 Tk T e 3T ToRAT, 3 HTE 92T B o faer o |1 36d S8 T o o 3fd
#,% 1,80,000 F FA AT H Y A R AW ETH B % R U 36,000 3 Foret| B = Topaa frarer foram oo
(A) ¥ 1,84,000 (B) ¥ 1,90,000

(C) ¥ 1,95,000 (D) ¥ 2,00,000

(E) Question not attempted / 3‘!@?’1}{?[ 99

Find the coordinator of the point A where AB is the diameter of a circle whose centre is (2, —3) and
Bis (1, 4).

forg A o Fcerer ST L STt W TR AB U 9 o1 o1 & Ttk 3 (2, -3) SIRB (1, 4) B

(A) (0, 11) B) (5,-2)

© (G,-10) D) (4,3)

(E) Question not attempted / @@ﬁ'ﬁ?f 949

The length of a room is double that of its breadth. The cost of colouring the ceiling at T 25 per m” is
% 5000 and the cost of painting the four walls at ¥ 240 per m” is ¥ 64,800.The height of the room is:
(A) 4m B) 45m

(C©) 35m (D) Sm

(E) Question not attempted

T AL T SIalTS SEsh! TS | T ) B4 ol U I AR % 25 Wi st Hiet I W& T 5,000 7 AL AR
e <t g T ArTa T 240 Wid o Hiet FI T H T 64,800 B AT FHL Bl HTS 2

(A) 4t (B) 4.5
(C) 3.5HX (D) 5HIX
(E) SFaiea o

An aeroplane flying at a height of 300 m above the ground passes vertically above another plane at an
instant when the angles of elevation of the two planes from the same point on the ground are 60° and

45°, respectively. The height of the lower plane from the ground (in m) is:

STHIT & 300 HISL hT TS T IS T Ueh BTS STETS! SHT &0 Iealfer § o formT o S & ol & Sfel
ST o T B foig @ a1 FormTi o S=1E o7 60° 37 450 shART: Bl S o et fomr sht e (Hiex
)R-

(4) 50 (B) %
(€) 10043 (D) 150(J§+1)

(E)  Question not attempted / 3TTANT I
@.;;% 8 [ P.T.O.
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A birthday cap is in the form of a cone having base radius 7 cm and height 24 cm. The area of the sheet

. . . 22
(in cm’) required to make five such caps is (n = 7)

T, TG sht 2IHT TeF 1% o ST ol & FSraehT STTaR B 7 9.t 3 g 24 €T 81 Uelt oi=r it

T B ST ¥ie 7 et (F ) 2. (n=2_72)

(A) 2640 (B) 2700
(C) 2750 (D) 3000

(E)  Question not attempted / 37 a9

sin 29°

The value of +2tanl1°tan31° tan45° tan 59° tan79° -3 (sin2 20 + sin2 70°) is

cos61

S 290 +2tan11°tan31° tan45° tan 59° tan79° -3 (sin2 20 + sin? 70°) HAH R

cos61
(A) 2 B) -1
© 1 (D) 0

(E)  Question not attempted / 37 9

Which one of the following component is NOT reflected in Age-Sex pyramid?
(A) Population density

(B) Number of females in percentage

(C) Number of males in percentage

(D) Percentage of men and women in each age group

(E) Question not attempted

frferftad & & i a1 veeh 1o fofire o aftefid Tt g g 2

(A) ST T (B) wfera & Afeet gaer
(C) feRTa H qo Heed (D) e Y = H YNl I Afgerstl w1 wfemra
(B) Irgafaus

et 9 [ P.T.O.
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CaO + H,0— Ca(OH), + Heat

The given chemical equation is:
a. a double displacement reaction b.  acombination reaction
c. a decomposition reaction d.  exothermic reaction

Choose the most appropriate answer from the options given below:

(A) aandconly (B) banddonly

(C) bandconly (D) aanddonly

(E) Question not attempted

CaO+HO— Ca(OH)2 + Heat

[ERIRICIRIRIEE R CIU RS
a. e aredl foreemod wfdfsrar b. e HAISH hafsRa
c. U fouea vfafsrn d. T FHwradt it

et fow e ferepedt 7 @ wriferen S9h 3T |

(A) FHaTa 3N (B) I b d

(C) FaAb3Mc (D) FacTa 3 d

(E) SFgaid 9

The aerated drinks (soda water) constitute

a A mixture of gases
b.  Gasin liquid solution
c.  Liquid in gas solution

d. Carbon dioxide as solute and water as solvent
e. Carbon dioxide as solvent and water as solute

Choose the most appropriate answer from the options given below:

(A) canddonly (B) banddonly
(C) a,canddonly (D) b, dand e only
(E) Question not attempted
TULE ATet AT 99 (§IeT ur)

a. @i TR

b. WAHAHNR

c. TE%HAH WA

d. oo s w9 A e egeiieaEs R foees & w9 9 g
e. Tocmaes & w9 # w6l SRS 3R foeia & w9 9 g

et fow g foeret # @ wafae SHw STt |

(A) Hadc 3N d (B) A b3id
(C) HacTa,c3id (D) Hadb,d 3T e
(E) SFaiea o

et 10 [ P.T.O.
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Which of the following metals can easily be cut with a knife?

(A) Lithium (B) Magnesium
(C) Aluminium (D) Copper

(E) Question not attempted

ffcafiad o § =i HT o1 =Tk o Serd e H1eT ST e 87

(A) faforem (B) Eiftrm
(C) uefHEm (D) W
(E) Irgafaus

A ABC and APQR are congruent triangles. If £ ABC = 52°, and £ PRQ=80°, then £ CAB is:
A ABC 3T A PQR Haimaw s €, afa £ ABC = 52°, 31k £ PRQ=80°, 79 £ CAB @

(A) 40° (B) 48°

(C) 52° (D) 80°

(E) Question not attempted / @@ﬁﬁ 9

In AABC and APQR, AB=PQ, £ B=2Q, then which of the following statements is true?
(A) AABCand A PQR are congruent

(B) AABCand A PQR are similar

(C) AABCand A PQR are not similar

(D) AABCand A PQR may or may not be similar

(E) Question not attempted

AABC 3TA PQR H AB=PQ, ~/ B=/ Q, ® aa f=fciRad & & =9 &7 heid T 87
(A) AABC 3T A PQR Hafmed ?

(B) AABC 3 A PQR Tm&q ®

(C) AABC 3T A PQR ¥"&T T&i &

(D) AABC 3 A PQR HHEY &l Gehdl & 379 Te| off &1 Hehel &

(E) SFgaid 9

D is a point on the side BC of a A ABC such that AD bisects £ BAC. Then which of the following

is correct

st ABC 1 9o BC Wiy D 30 YR & o AD, £ BAC 1 wafgwior ahedm & at fet 5 & st |
EEE

(A) BD>BA (B) BD=CD

(C©) BA>BD (D) BA=BD

(E) Question not attempted / C’H@?lﬁ_d EEl

Where is Satish Dhawan Space Centre (SDSC) located in India?

(A) Thiruvantpuram (B) Bengaluru
(C) Sriharikota (D) Hyderabad
(E) Question not attempted

TeftRT G STafter ohg A # Fal fbord &2

(A) PreHaqH (B) &TIE

(C) fefwrrer (D) ReUETE
(E) SFaiea g

et u [ P.T.O.



40

41

42

L91 ]

Identify the true statements related to soaps and detergents.
a. Soaps are sodium or potassium salts of long chain of sulphuric acids while detergents are

generally sodium salts of carboxylic acids

b.  The soap molecules form micelles when they interact with water and dirt (Oil)
c. These micelles are able to pull out the dirt in water

d.  Soaps are effective in hardwater also

e. The detergent remain ineffective in hard water

Choose the most appropirate answer from the options given below:
(A) a,bande (B) bande
(C) bandc (D) aandd
(E) Question not attempted
a1 3R feetsle @ Heifara aed o i veam &l
a. TSGR TS I TAll 2@  HIfSaw A1 qIeRIEH Tl 21 8 Sefeh feetsie 3T di
T TS (o1 o1k TS o IS =T &1 &
b, e TS 3 0] T e et () B et o 3 2 rdew s B
c. Afimcmar # g et @i e ferren 3 wam g
d. WA FHIR A H H TR Bl

e e i Feaie s T B
ﬁﬁ?ﬂ@%ﬂr@ﬁﬁﬁmmwaﬁl
(A) a,b3Ne (B) b3ie
(C) b3iRec (D) a3d
(BE) Irgafaus
Which of the following is not an alkali metal?
(A) Lithium (B) Sodium
(C) Potassium (D) Mercury
(E) Question not attempted
Freaferfiaa # & 9 o e g 7€ 22
(A) foform (B) wifeaw
(C) dRmEm (D) 9w
(E) SFdiea o

The blue colour of the sky is because of the phenomenon of -
(A) Dispersion of light (B)  Scattering of light
(C) Atmospheric refraction of light (D) Reflection of light

(E) Question not attempted
STTSRTST T AT T fohdt TFCereAT o ST B1eT & 2

(A) JRIST I eATE (B)  WehTST T JehIU
(C)  STRTRT T SARHSHT 3T (D) TehTRT T Afcifela
(E) SFaiea g

et 12 [ P.T.O.



43

44

sinZ @ N 1+cosO sin O

1+cosO sin  1—cos®

(A) © (B) 1

(C) sin6 (D) cosHO

(E) Question not attempted / 3‘!@?!'?{?[ EEl

The table shows the number of students of Humanities, science and commerce streams who were
admitted in a University in the years 2005, 2006, 2007 and 2008

qrfetert 7 98 2005, 2006, 2007 37T 2008 ¥ forafrnaa § yaer e a1ed gHfaei, g i anforsa g

Year

Humanities

Science

Commerce

2005

970

912

750

2006

812

940

757

2007

985

1134

1032

2008

974

810

1121

45
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What is the average number of students per year who got admission in Commerce stream during the
given years?

FITC T ANT oh SR Si TN ATV Hohral H TR I ATt STAT bt el oy ST ST 37 22

(A) 903 (B) 908

(©) 912 (D) 915

(E) Question not attempted / 3‘1@?‘?@ qFq

The given table shows the number of students of Humanities, Science and Commerce streams who

were admitted in a university in the years 2005, 2006, 2007 and 2008

qrfereRT § 918 2005, 2006, 2007 37 2008 H fera e o Yot 9 a1t g faeht, fagm 37T anforss s
& BT <h! T&AT ST AT R

Year

Humanities

Science

Commerce

2005

970

912

750

2006

812

940

757

2007

985

1134

1032

2008

974

810

1121

The ratio of the number of students admitted in Humanities stream in 2005 and 2006 taken together
to that in science stream in 2007 and 2008 taken together is
2005 3 2006 H AF{TR! HHRT H FoIT AT ST 3h1 ST 31 ST 2007 3R 2008 H fa71 by 1
T AT oIt foTg 7 o7 3T 2 -
(A) 10:11 B) 11:12
(C) 12:13 (D) 13:15
(E) Question not attempted / @gﬁﬁﬁ 9
@.;;% 13 [ P.T.O.



46  Arrange the following ports of India from North to South direction.

a.  Vishakhapatnam b.  Paradwip
c.  Tuticorin d.  Chennai
I o feferfad oo (sewTme) =t 3w @ gfeqor e it o7t rafterd =i
a. foaemETORY b.  URIET
C. qdlerife d. %|:r§

o

Choose the most appropriate answer from the options given below:
it fow T ferepedt # @ wiferer U I Rl =13 T

(A) b,a,c,d (B) a,b,d,c
(C) c¢,b,a,d (D) b,a,d,c
(E) Question not attempted / 3‘|T\-|D?Iﬁ_d e

47  Which is the highest mountain peak in India?

(A) Mt. Everest (B) Mt. Kanchenjunga
(C) Mt. Nanda Devi (D) Mt. Annapurna
(E) Question not attempted
T <l TeT8 el gaid =1el shid €l 22
(A) TIE Ydd (B) eI Uad
(C)  +FaT aeft ket (D) ST ekt
(E) SFaiea g
48 Haldia port was developed as a subsidiary port, in order to relieve growing pressure on the which
port?
(A) Chennai (B) Paradwip
(C) Kolkata (D) Tuticorin

(E) Question not attempted

fore SIeTTE W sed gaTel =kl hH i o fol BfecdT ST il Uk Uebeh sieUTe & &9 1 fashiyd fomm

T 12
(A) == (B) WHIET
(C) HIcAhTar (D) TR
(E) Irgafaus

49  The value of (log57 + loggz) is
(logg7 + loggz) FIHAMR -

(A) 4 B)

< 7 D)
(E)  Question not attempted / 3T a9y
LI1] @n;;% 14 [ P.T.O.



50 If x2 + L :1—7, x>0 then what is the value of x> + L‘.7
x2 4 x3

Zrf%.'x2+i=£,x>0,aar 33+ o T A

X2 4 X
-9 185
(A) < (B) e
65 17417
©) ry D) T\/_

(E)  Question not attempted / 37 a9

51  Which of the following is/are factors of (x + y)3 - (x3 + y3 )?

a. X2+ y2 + 2xy b. X2+ y2 - Xy
c. xy2 d. xy
Choose the most appropriate answer from the options given below:
(A) banddonly (B) donly
(C) a,canddonly (D) aandconly

(E) Question not attempted

frafafeaaa s ar (x+y)3 - (x3 +y3) W‘;WH’@W@%/%"

a. X2+ y2 + 2xy b. X2+ y2 - Xy
c. xy2 d. xy
it fow T ferepedl # & e SUh ST I :
(A) FHIAb3Id (B) wadd
(C) e a, c3iTd (D) FacTa 3N e
(E) SFaiea o

52 What is the ratio in which the line segment joining (1, -5) and (4, 5) is divided by the x-axis?
a‘s'angmw%mﬁ (1,-5) 3R (4, S)aﬁaﬁsﬁw‘{@@i@ x-axis @ favifora grar 22
(A) 1:4 B) 3:2
© 2:3 (D) 1:1
(E) Question not attempted / C’H@?lﬁ_d T

53 A rectangular garden of length 100m and width 80m is to be surrounded outside by a 2.5m wide path.
What is the cost of paving the path at the rate of ¥ 120 per m*?

100 Hex alTg 371 80 Hiet TNSTS ATt Ueh STIATSRT I ohl SITet & 2.5 Wit =g 7r & s St 81T 120
fer ot HieX T T W AW ol UefehT Sl hl AT 4T 87

(A) ¥ 1,08,000 (B) < 1,10,000

(C) T 1,11,000 (D) T 1,16,000

(E) Question not attempted / @gﬁﬁﬁ 9

L91]| et 15 [ P.T.O.
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54  The length of a rectangle is 30 cm and its area is 720 cm’. Its area is increased to IZ times than

original area by increasing its length only. The perimeter (in cm) of the new rectangle is:

TS SR sh1 calTg 30 6.5 & ST S8R &Rhat 720 ST 81 Falct TS g it H 56 T &%l I &bl

g 1% T ¢ ST 81 A STRI 31 ATy (S ) 2

(A) 123 (B) 125
(© 119 (D) 121
(E) Question not attempted / 3‘!@?’1}{?[ 99

55 The angles of elevation of the top of a tower from two points P and Q at distances 10 m and 5 m

respectively, from the base and in the same straight line with it, are complimentary. The height of the

tower is .
(A) 6m B) 5V2m
©) 53 m (D) 5.5m

(E) Question not attempted

Tk HIA % 301 o a1 feigadl P 371 Q, ST i o STerm & weh ©lveft T 4 shwver: 10 #. 37 5 . i gt o
&, | I 10T T & AR A S R

(A) 61X (B) 542 i
(C) 53 Hiex (D) 5.5
(E) S¥aiea o

56  The nitrogenous base not present in DNA is -
(A) Uracil (B) Thymine
(C) Guanine (D) Adenine
(E) Question not attempted

S T T H M G ATSZISH (SH) &R HISE 6 8 ?

(A) FufEe (B) emsfer
(C) T (D) weh
(E) SFgaid 9
57  The name of the first transgenic cow that produced human-protein enriched milk was:
(A) Dolly (B) Rosie
(C) Eli Lilly (D) Kamdhenu

(E) Question not attempted

-GS W5 3U < SlTetl oA Zigi(-1eh 12 21 19 o :

(A) et (B) st
(C) et foreft (D) e
(E) SFaiea g

L91]| et 16 [ P.T.O.



58 Match List-I with List-IT

List-I List-I1
Blood Group Antibodies in plasma
a. A L. Anti- A
b. B II. Anti- A,B
c. AB III. Anti- B
d O IV. Nil
-1 ! F=-11 | gaferd i :
Tel-1 Feit-11
TS T TATSHT § T idis i
a. A L. Anti- A
b. B II. Anti-A,B
c. AB . Anti-B
d O IV. Nil
Choose the most appropriate answer from the options given below:
et fow e ferpedt 7 & waiferer 9 ST g :
(A) a-Lb-1V,c-1III,d-1I (B) a-ILb-Lc-1V,d-1I
(C) a-1V,b-Lc-I,d-1I (D) a-lL,b-Lc-IV,d-1I

(E)  Question not attempted / 3TTANT I

59  Given below are two statements:
Statement (I) : Sindhu Saraswati civilization was famous for town planning.
Statement (II) : The advanced Sindhu Saraswati civilization was developed amongst Sindhu, its
tributaries and Saraswati river area.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are correct.
(B) Both Statement (I) and Statement (II) are incorrect.
(C) Statement (I) is correct but Statement (II) is incorrect.
(D) Statement (I) is incorrect but Statement (II) is correct.
(E) Question not attempted
HAT - | ; Fomeg Tt T T S o Treg oft
A - 11 : I~ Toree] Tearelt wrvarelt sh ot el <ht wrerren Ao 37 eeardlt 7t & o ferm gt

ol

JUUE o o ATedreh 1, = fou e fashedt O @ g ST 1 s hifSe

(A) A 3T ST T B (B) U I 3 11 ST 316 B

(C) FHITAE, FgFa Il smag| (D) A 3EA 2, Tohe] o 11 HA 8
(E) SFaiea o

L91]| et 17 [ P.T.O.
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In 1800 A. D. who was the first person to call present day Rajasthan as Rajputana?
(A) George Thomas (B) James Tod

(C) George Calony (D) James Rizu

(E) Question not attempted

T 1800 § H I8 shi SATeh AT 6 37T o TSReT ol TSTIAT 812

(A) ST 9T (B) wwIE
(C) SIS el (D) s
(E) SFaiea g

In the pie chart given below A, B, C, D and E represent the cost of paper, printing, miscellaneous

work, binding and the royalty respectively in publishing a book.
= feg M aE=E # A, B, C, D 3 E T T&ie o TehIeH H sHART: AT, HE0T, fafae s, smse sk
Tt st ATTa a1 fafferes i &:

How much is spent on miscellaneous work for publishing 10000 copies of a book, costing ¥ 185 per
book?

% 185/~ Sl YTk 2l AT ATt Jieh <l 10,000 Sfert SehTfra st o o ferferer st ot fopaar @t fera
STTAT 82

(A) ¥5,00,000 (B) 5,25,000

(C) R 5,40,000 (D) 5,55,000

(E) Question not attempted / @ﬂﬁfﬁ 9T

If mean of the data k, (2k-1), (3k+2), 5, 8, 10 is 9, then what is its median?

Ifg gk, (2k-1), (3k + 2), 5,8,10 T AT (HI) 9 &, T 3ehT Hfezent (Fafeam) w22
(A 11 (B) 8.5

<o 7.7 (D) 8

(E) Question not attempted / ?Flflﬁfﬁ 949

% (log x + log y) will be equal to log(%) , If

%(10gx+logy)3ﬁT log(HTyj SR BN, Al
A »y=0 B) x=

hd

2
(© x=y D) x=y
(E)  Question not attempted / 3TTANT I

et 18 [ P.T.O.



64  Who issued a new Calendar “Ilahi Era™?
(A) Humayun (B) Shahjahan
(C) Akbar (D) Jahangir
(E) Question not attempted

“TATE! W Sheiet fohe ST fopam o2

(A) T (B) YTEstel
(C) 3k (D) SET
(E) SFaiea g

65  With reference to the Golden Quadrilateral Super highway project-
East-West Corridor connects
(A) Imphal - Rajkot (B) Imphal — Porbandar
(C) Rajkot - Silchar (D) Silchar — Porbandar
(E) Question not attempted

OISt HET TSTT ST o STerTd, Ja-Tam e 56 & T 3t 31t o siear 82

(A) FTFHA-TSHRE (B) 3FHIA-THSET
(C) USTEle-faer= (D) ferer-dreeT
(E) rgafaus

66 A man from the top of a 100 m high tower observes a car moving towards the tower whose angle of
depression is 30°. After some time the angle of depression becomes 60°. The distance (in m) covered

by the car during this time is

100 ¥ieX J7el TR o T & Teh ATh T SR i A hl T ST G3AT ST &, STEehT ST i1 30° 2
% THY SI1E AT HI0T 60° Bl ST 21 §6 S kit gRT 7 3hi 718 gl (et o) 22

a) 10043 ) 2005
3 3
© %3 ® X3

(E)  Question not attempted / 3T a9y

67 cosec(65°+0)—cot (25°-0) —sec (25°—0) + tan (65°+0) =
(A) -2 B) 2
< 0 D) 1
(E) Question not attempted / 3‘!@3’?@ BE

68  Who is the author of “Justice for the Judge: An Autobiography” ?
(A) Amrit Mathur (B) Ranjan Gogoi
(C) Sandeep Sahu (D) Namita Gokhale
(E) Question not attempted

“STEH BT g SIST: T SAITRIUTED o G hid 82

(A) 3Tqd TR (B) ISHTIE
(C) wdmHE (D)  Hftrar MEe
(E) SFaiea 9

L91]| et 19 [ P.T.O.
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RTI ( Right to Information) bill received Presidential assent in which year?
(A) June 2005 (B) April 2015

(C)  July 1994 (D) June 2000

(E) Question not attempted

AL, 2. TG, (Y1 b1 HATUFR) Forerrh ohi Trgafa i wiiepld forer a feft?

(A) S[T2005 (B) 312015
(C) SIS 1994 (D) S 2000
(E) Irgafaus

‘Beti Bachao, Beti Padhao’ scheme was launched in which year all over India?
S ST, ST TTSHT AT fordt o Frut HRAey H AT 852

(A) 2014 (B) 2015

(C) 2016 (D) 2017

(E) Question not attempted / 3‘17\@% 9T

In which year was the IX Asian Games organised in New Delhi?

% foeet! 99 Uit T fore o sTrITfS ga2
(A) 1980 (B) 1981
(©) 1982 (D) 1983

(E)  Question not attempted / 37 a9

Which one of the following cities has become India’s First Wetland city?
(A) Shillong (B) Udaipur

(C) Bhopal (D) Indore

(E) Question not attempted

ffafiad o & & o1 7R TRd 1 T2 3173 H(ets) T AT

(A) feraim (B) S&AX
(C) T (D) ¥R
(E) SFgaiea o

Who imposed tax named “Chanwari tax” on the farmers?

(A) Gangaram (B) Hamid Hussain
(C) Prithvi Singh (D) Rao Krishna Singh
(E) Question not attempted

ToramT o <t 0 T stferifue femam am

(A) TR (B) wfHEgeA
(C) et fie (D) TaFwT e
(E) SFaiea o

et 20 [ P.T.O.



74  Which of the following is a poitical consequence of industrial revolution?
(A) Cottage industries were destroyed.
(B) The Colonial Competition gained momentum through industrial revolution.
(C) Production and commerce grew on a large scale and economic imbalance occured.
(D) A new social class emerged, moral values declined and the joint family system got scattered.

(E)  Question not attempted

Frefeftaa o & = a1 sienfies shifd s asHifae giomy 82

(A) FERIMTIE Y

(B) 3fenfirek swifa o mream @ sfafafyrer iyt 6 mifa fiefh

(C) 3caTeA SR AT § o1¢ T W g g3 3 AT SHeiqer Har g3l

(D) T T HTHTISTe a1 ohT 359 BT, ik el o1 818 §HT I TYh TR sHaree foret T3
(E) SFaiea o

75  “Uparmal Panch Board” was formed by
(A) Rao Krishna Singh (B) Ram Milan Lohia

(C) Brahmadeo (D) Vijay Singh Pathik
(E) Question not attempted

“ITAT U IS T TS ERANRCRIRICIR

(A) TE N fiEg B) T e afear
(C) waRd (D) fosr foig uftres
(E) Fgaia o

76  Ahmednagar was merged with Mughal Empire during the reign of :

(A) Akbar (B) Jehangir
(C) Shahjahan (D) Aurangzeb
(E) Question not attempted

HEWSTR T foeia PAHSTH o I hic H g1l

(A) 3T (B) SwEAf
(C) SESTEl (D) 3iTsia
(E) SFgdia o

77  Amrita Devi Vishnoi is famous for -

(A) Women Empowerment (B) Village Development
(C) Saving the Khejri Trees (D) Bhagat Aandolan

(E) Question not attempted

o e foité e forw i 22

(A) ofear gerfreror & fag (B) T forer & fotw
(C) Wl o Ugl ol o= o fofT (D) WA 3= o fefe
(E) SFaiea o

L91]| et 21 [ P.T.O.



78  Tejaji was born in which district?

(A) Ajmer (B) Nagaur
(C) Sikar (D) Jodhpur
(E) Question not attempted
SIS =T ST fordt fofet H g o
(A) 3R (B) AW
(C) Hr (D) STaE
(E) 341\'*”\((‘! 949
79  Name the renowned “Mand Singer” who immortalized the song ‘Kesaria Balam Aao Ni Padharo
Mabhare Des’.
(A) Piru Singh (B) Shyamal Das
(C) Gavari Devi (D) Allah Jilai Bai

(E) Question not attempted

39 guTeg i M 1 AW Sard, e o 1 e Stem sTredt i qdml weieRr @ S JeH
feam)

(A) Tz (B) WIHATH
(C) T e (D) 3Teae fofers aé
(E) Gﬂiloﬁlia 94

80 What kind of lens is present in the human eye?
(A) Biconvex (B) Biconcave
(C) Planoconvex (D) Planoconcave
(E) Question not attempted
T <Y 377 H ToRE ST SR o HiS[E BT 22
(A) SWIRA (B) 3¥TEdSA
(C) wHdAA (D) THAATETA
(E) Irgafaus

81 Burning of coal to form carbon dioxide is a/ an reaction
(A) Reduction (B) Displacement
(C) Oxidation (D) Decomposition

(E) Question not attempted
HIAA STAT U sl SIEITTFITES ST Ueh Tl fsha 8:

(A) ST (B) o
(C)  ATRHIRIOT (D) e
(E) rgafaus
82  Which of the given nutrient cycles is sedimentary type? (Choose the most appropriate option from
below)
(A) carbon and sulphur cycle (B) carbon and nitrogen cycle
(C) phosphorus and carbon cycle (D) sulphur and phosphorus cycle

(E) Question not attempted

Frer R T e <Iohi ShI T Sigh ST (ST SRR SR e 27 (e 2 & e Suereh ferehed )

(A) e TR TeHL =5k (B) e 3 ATSLINH <5k
(C) WIEHRH 3R HTal <=5k (D) T 3 BRHRH =I5k
(B) Irgafaas

L91]| et 22 [ P.T.O.



83  Select the primary consumers from their food chain: (Choose the most appropriate option from

below)
(A) fishes, frog, grasshopper (B) grasshopper, deer, sugarcane stem borer
(C) sugarcane stem borer, frog, tiger (D) snake, fish, bird

(E) Question not attempted

T o1 IThT e e | STfHerR STHITHT o F9 H = i ST wifeeh 3ugh forehed I

(A) T, Heen, feger B) feger, fewo, 1= qA Hesw
(C) TT=T T eeh, Tk, ST (D) 9, T, vaft
(E) SFgdiea o

84  Which of the following techniques is useful identification tool in forensic science?
(A) RNA interference (B) DNA fingerprinting
(C) Autoradiography (D) Gene therapy
(E) Question not attempted

Frafefaa O @ Fi9-dt dorieh Biieh fag= 3 U8 i o {2 TR qlien 82

(A) STRTATETHE (B) EruA.u fhmftifen
(C) AeifeamTh (D) S Sl
(B) rgafta g

85 Match List-I with List-IT

List-I List-1I
Disease Causal Organism
a. Filariasis L. Haemophilus influenzae
b.  Pneumonia I.  Plasmodium
c. Malaria III.  Salmonella
d.  Typhoid IV.  Wuchereria
-1 ! F=-11 | afora i :
Tel-1 Feit-11
T HH AT
a. R L Sk FHIEsT
b. =T I et
c. waf@r L. graFHar
d. TEHES V. TR
Choose the most appropriate answer from the options given below:
et fow e ferpedt 7 & waiferer 9 ST g
(A) a-Lb-IlLc-1I,d-1V B) a-ILb-MLc-1V,d-1
(C) a-1V,b-Ic-II,d-1II (D) a-Lb-IV,c-1ILLd-1I

(E)  Question not attempted / 3T g
LI1] @@é 23 [ P.T.O.



86  Which one of the following converts mechanical energy into electrical energy using Faraday’s Law?
(A) Electric Motor (B) Electric generator
(C) Battery (D) Rectifier
(E) Question not attempted

rferfiad o & 19,502 o e 1 ST e Fihre Setl ol forela it # afEfdd sdr 82

(A) SifagaR A (B) TR ST
(C) o=h (D) IfFwHrR
(E) S¥diea o

87  Identify the statement which are incorrect with respect to rusting.

a.  coat of paint on iron rods prevents rusting

b.  galvanised water pipes are not normally used in homes
c. rusting is a physical change

d.  salt water makes the process of rust formation faster

Choose the most appropriate answer from the options given below:
(A) aanddonly (B) a,bandd only
(C) a,bandconly (D) bandconly
(E) Question not attempted
3G U T T L SHfoh ST A o Helel § T67d 2

a.  olIe I TS W U T hic ST UehdT 2l

b.  TICIATESIS ATeX TS SATHAI I SR § JIRT T8 &I 2

c.  SHTTHI T wifces aftad 2

d.  TuhiA Tt ST ot ufsha ot e SR =l

it fow e foeret # @ waifae v STt =

(A) Factas3id (B) adia, b3 d
(C) FacTa, b3 e (D) FFAb IR ¢
(E) SFdiea o

88 Sodium metal is stored in:

(A) Kerosene (B) Alcohol
(C) Petrol (D) Water
(E) Question not attempted

wHifeam arg # vieTid et 2:

(A) R (B) Achled
(©) T (D) o
(E) SFgaid 9

L91]| et 24 [ P.T.O.
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Who was the king in France, at the time of French Revolution?
(A) Louis 16" (B) Louis 18"
(C) Louis 19" (D) Louis 20"
E) Question not attempted

P

THTTeE shifd o HHI ShIE Rl TSTT hid AT?

(A) TEl16dT (B) 184

(©) JE1oatf (D) TE20dT

() Irgafaus

Where did Gautam Buddha gave his first sermon?

(A) Gaya (B) Kapilvastu
(C) Bodhgaya (D) Sarnath

(E)  Question not attempted

T S5, o ST e EHTaaeT el faar o

(A) T (B) hiuctere]

(C) slemT (D) WA

(E) Irgafaus

Which one of the following is an example of Agro-based industry?
(A) Cement Industry (B) Iron-steel Industry
(C) Petro Chemical Industry (D) Sugar Industry

(E) Question not attempted

frfefaa & & 1 o1 T FY stenfia e 1 3aTeTr 82

(A)  Hisie g (B) itz 3eim
(C) U2 TR I (D) =t 3T

(E) SFgaid 9

Which of the following is an example of Igneous rock?

(A) Sandstone (B) Shale

(C) Granite (D) Marble

(E) Question not attempted

frferfad & & 1 9T TR TgH T 3STEH0T 27

(A) SIHT IR (B) Wil TR

(€) e (D) €T

(E) SFaied o

Which district was NOT a part of Indira Gandhi Canal project in First Stage?
(A) Hanumangarh (B) Ganganagar
(C) Bikaner (D) Jodhpur

(E) Question not attempted

o ST hi= |7 e ey et w=T uies o it ar

(A) TATTE (B) TR
(C) s (D) SR
(E) SFaiea g

_Q
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94  Which one of the following introduced the practice of Sijda and Paibos in the royal court?
(A) Iltutmish (B) Jalal ud-din Firoz Khilji
(C) Balban (D) Razia Sultan
(E) Question not attempted

foraferfiaa & 9 foraa 91l <@ d forsrar 37T urgea shl gour 3Ty i

(A) SearHer (B) SIATdA-35-a14- st fgetstt
(C) s (D) TSt g
(E) S¥diea o

95  Which fort of the Sisodia Rajputs is situated on the banks of river Gambhiri and Berach?
(A) Chittorgarh Fort (B) Taragarh Fort
(C) Bhainsrodgarh Fort (D) Mandalgarh Fort
(E) Question not attempted

TerETe TSI o7 1 T TRt TR 3T S (sige) et o e o feord &2

(A) Terdtemg =1 et (B) dWNTG & foraTr
(C) HotieTg F1 fohatt (D) TIieaTE T fohett
(E) SFgaid 9

96 Who was author of the novel “Anand Math™?
(A) Bankim Chandra Chattopadhyay (B) Veer Savarkar
(C) Lokmanya Tilak (D) Rang Bapuji
(E) Question not attempted

“3{e HS” ITATY o AGh i I?

(A) Sfrd o= TEMTeT (B) &R OTaE
(C) A faere (D) TS
(B) Irgafaus

97  Rajasthan State Industrial Development and Investment Corporation Limited (RIICO) has developed
Agro Food Park in which of the following district?
(A) Jaipur (B) Churu
(C) Udaipur (D) Kota
(E) Question not attempted
TS TS e forshrer wel fraret fmm e (R1ICO) = 1 1 € forer ot  wiige reh ferefra
foran e 2

(A) SHEX B) I&®
(C) AW (D) i
(B) Irgafa s

L91]| et 26 [ P.T.O.



98  Who was the founder of the “India House” in London?
(A) Madan Lal Dhingra (B) Balkrishna Hari Chapekar
(C) Shyamji Krishna Varma (D) V.D. Savarkar
(E) Question not attempted

AT | “3fSaAT BT o HEATIS i A?

(A) WE AT i (B)  STisher g =mieRt
(C) TATHSI Hor | (D) 1. grEtE
(E) SFdiea g

99  Which one of the following port is situated on the western coast of India?
(A) Haldia Port (B) Tuticorin Port
(C) Paradwip Port (D) Kochi Port

(E)  Question not attempted

frfafiaa 9 @ 9 a1 seume v & gfaH 92 7 fEua 22

(A) sfcearsieume (B) ThIN siawme
(C) U siewTrg (D) = seUTE
(E) rgafaus
100 Which one of the following Indian state does not share its state boundary with Bangladesh?
(A) Assam (B) Manipur
(C) Tripura (D) Meghalaya

(E) Question not attempted

fofafad 5 @ 9 a1 ardia TsT Sieer & 91y 319 TS ht diAT 9re T8 w2

(A) s&H (B) =M
(©) PBrgu (D) TuTT
(B) rgafta

101 Find the difference between the Mean and Median of the data 6, 16, 12, 4, 7, 35, 39 and 3.
2206, 16, 12, 4, 7, 35, 39 3 3 o Arey () 37T Arfegent (fafsem) w1 3w a i
(A) 0 (B) 425
(C) 5.75 (D) 9.75
(E) Question not attempted / 3‘!@3’?@ K

102 In aclass, the number of girls is one less than the number of boys. If the product of the number of boys
and that of girls is 272, then the number of girls in the class is:
Teh el H SIS Tohal shl ST ISeh! ohl &A1 § Ush o 8 Tla TTgehi I TIglerdl ohl T shT U 272
2, 1 et § wrefenat ot e foha 22
(A) 15 (B) 14
(©) 16 (D) 17
(E) Question not attempted / C’H@?lﬁ_d 9

L91]| et 27 [ P.T.O.



103 A square and an equilateral triangle have the same perimeter. If the diagonal of the square is 1243

cm, then the area of the triangle (in cm?) is :

T T 371 e THaTg frgst i1 afema g 1 2fE ot o1 forehol 1243 om 2 e Fgst 1 89 (in em?)
7 fopemT 27
(A) 243 B) 43

©) 3243 (D) 6443
(E) Question not attempted / 3‘1@?‘?@ 9T

104 If 2x +1 is a factor of 4x° + kx , then the value of £ is:

AT 4x° + kx FIIPAGE 2x + 1 2, T & FTHH G112
A 2 ® -
2
<© -1 (D) 4
(E)  Question not attempted / 377 Iy
105 If%:l,then X +i3=
x“-2x+1 4 X
af ¥ Laslo
X -2x+1 4 X
(A) 198 (B) 210
(C) 216 (D) 238

(E)  Question not attempted / 3T a9y

106 The radius of the base and the height of a solid cylinder are in the ratio of 2:3 and its volume is

22
1617 cm®. What is the total surface area of the cylinder (in cm?)? (TI: = 7}

Te 31 feiet o TR i Brsa iR s o1 o1qard 2.+ 3 € 3T 38ent 3T 1617 S 31 faciet w1 et

T %o (S ) 7 22 (n =27—2j

(A) 462 (B) 616
© 770 (D) 786
(E) Question not attempted / 3‘!@?’?{?[ EEl

L91]| et 28 [ P.T.O.
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How many small cubes, each having surface area of 96 cm’ can be formed from the material obtained

by melting a larger cube having surface area of 384 cm” ?

Tk 384 T & TAE &1 ITc 51 O h TUSeATeRt T8 |t § foha SIS 9 1T ST Hehd 8, TSI Tedeh o1
HAE & 96 T’ 27

(A) 8 (B) 50

(©) 80 (D) 4

(E) Question not attempted / 3‘!@?!'?{?[ e

) D . . 7 4
A, B and C entered into a partnership with investments in the ratio of 5 : E : g , after 4 months, A

increased his share by 50%. If the total profit at the end of one year be I 21,600, then B’s share in the
profit is:

A, B 3R C T wrdar § l-ig 3 S B A e E, 4 TR w1 R 7 50% afe

2°3
afe Tk o 3Hq § FA AT 21,600 AT E A AT H B FH @I R -
(A) 2100 (B) ¥ 2400
(C) T 3600 (D) T 4000

(E)  Question not attempted / 37 a9

Vipul is on tour and he has ¥ 360 for his expenses. If he exceeds his tour by 4 days. He must cut down
his daily expenses by X 3. For how many days is Vipul on tour?

o9 0o 2 I 34k U 370 W o T 360 ¥ 81 Afe I8 3107 U 4 fod A ekt STt &, 1 <4
S 2 i 8 3 w3 o e e A feer P e 3 e g e 22

(A) 18 B) 21

© 19 (D) 20

(E) Question not attempted / 3‘1@?‘?@ T

Which Constitution Amendment Act is related to anti-defection law?

(A) 42" Constitution Amendment- 1976 (B) 44" Constitution Amendment- 1978
(C) 52" Constitution Amendment- 1985 (D) 64" Constitution Amendment- 1989
(E) Question not attempted

I A1 HforeT Eeies sttt oo sed forielt s @ wwifea 22

(A) 4291 Gfaem gened - 1976 (B) 449t Gfeer G - 1978
(C) 52at wfeem Jener - 1985 (D) 64aT Hferm Gemer - 1989
(E) SFaiea o

Where is Mauritius island located:

(A) Indian Ocean (B) Atlantic Ocean

(C) Pacific Ocean (D) Arctic Ocean

(E) Question not attempted

HreTE S el e 82

(A) &< 9EErR (B) 3TEAIH HEMTR

(C) T HEEFR (D) 3AThidsh TR

(E) SFaiea g

et 29 [ P.T.O.
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Which of the following statement about the arid soil of Rajasthan is not correct ? (Choose the most
appropriate option from below)

(A) Arid soil range from red to brown in colour.

(B) Arid soil is generally sandy in structure and saline in nature.

(C) It has sufficient amount of nitrogen and humus.

(D) Arid soil is poor as it contains little humus.

(E) Question not attempted

TSTEAT ol 375k W o Haigr § 1 5 § 34 |1 e G 781 82 (1 3 & oot I foreped =)
(A) 375 H&T 1 {7 A1 © 9L {7 7 e 2

(B) 3T HET AT, T § Sicts 31 Wahid & Saviia gl 8

(C) S ATSEISH ST A ATH HE el 2

(D) 3 7T ST & ik S ST S HTAT H I S

(E) SFaiea o
Arrange the following rivers of India as placed from North to South on Indian map.
a. Godavari b.  Kaveri
C. Chambal d.  Narmada
ffafiaa fet st TRA & FoR1 T SR STTER ST § TR0 Al T Fafeerd H:
a. TEEd b. e
c. =FA d. Har

Choose the most appropriate answer from the options given below:
=t T T foreredl # @ wifeeh S 3L Rl =@E IS

(A) c,a b, d B) c,d,ab
(C©) c,a,d,b (D) c¢,b,a,d
(E) Question not attempted / @gﬁﬁ_d qq

Who was the pioneer of ‘Anuvrat Movement’ ?

(A) Keshav Chandra Sen (B) Dayanand Sarswati
(C) Vivekanand (D) Acharya Tulsi

(E) Question not attempted

AU ST 6 UK i 242

(A) oIS =F B (B) TS L&
(C) faasre (D) ST ot
(E) SFaiea o

Vedika, Amalak, Shikhar are associated with

(A) Paintings (B) Havelis
(C) Temples (D) Forts

(E) Question not attempted

(A) Tenrhrl (dfém) (B) waeh
(C) Hfew (D) Tt
(E) S¥aiea g

et 30 [ P.T.O.
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Given below are two statements:

Statement (I): The British Government formed a commission in 1927 under the chairmanship of Sir
John Simon which was called Simon Commission.

Statement (II): There were seven members in the commission but none of them was an Indian.

In light of the above statements,choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are true.

(B) Both Statement (I) and Statement (II) are false.

(C) Statement (I) is true but Statement (II) is false.

(D) Statement (I) is false but Statement (II) is true.

(E) Question not attempted

fardrem fag e E

Fo - 1 : Tofewr aar 7 1927 # O S 9rgw it sTeverdr § Uk AT 1 T forar ot wmge sheiee
<hal 1|

AT - I : STRINT H AT G & O] 34 § hlg Wit Wik 1 &1 ol

ST FHT o AN H IR Toshedl H & T Tereh U 3L I :

(A) T (1) 3T (11) 31 T B

(B) e (I) 3 (1) T 318 2|

(C) = (I) T 7, Fohe e (I1) 3T 2 |

(D) % (1) 39 & , Toh] o (11) T 2

(E) S¥aiea g

Who was selected as a President of the World Bank in 2023?

(A) Praveen Sood (B) Amit Agrawal
(C) Ajay Banga (D) Janardan Prasad
(E) Question not attempted

T 2023 H IS sloh o STEAET oh T H ohereh =R g7 A1

(A) FETHES (B) ATHd traTed

(C) FISF=m (D) ST TETR

(E) SFgaiea o

Which one of the following acts as a “Nodal Industry” for synthetic textile?
(A) Sugar Mills (B) Plastic Industry

(C) Petro Chemical Industry (D) Paper Industry

(E) Question not attempted

frfafaa & @ o Rl Taaerse & g T “red (V@) ST & &9 H H1- HA 8 2

(A) = e (B) TeATRee: &
(C) U TR FEN (D) YT I
(E) SFaiea g

et 31 [ P.T.O.



119 Arrange the following copper mine centres of Rajasthan, from North to South direction.

a. Bhilwara b.  Udaipur
C. Alwar d.  Khetri
T o ffafad qiem wam el sht 3T & afeqor foom & o7 safierd =i
a.  ¥idarer b. 3L
C. AT d. @T‘I@lf
Choose the most appropriate answer from the options given below:
et fow T ferped 7 & wafier U ST |
(A) d,a,c,b (B) d,c,ab
(C) c,dab (D) c,a,b,d

(E)  Question not attempted / 3T a9

120 When a current carrying aluminum rod is placed in a magnetic field, the displacement of the rod is
largest when the direction of current is -
(A) parallel to the direction of the magnetic field
(B) atright angle to the direction of the magnetic field
(C) at 60° to the direction of the magnetic field
(D) less than 90° to the direction of magnetic field
(E) Question not attempted
ST T Toreglet 9T WeRTIRTA (1 ST STelt) T HIE ol ©3 sl Seehial &1 H T@T ST 8, A1 B T oot
T 3ATereh el BIT & Sof fereye] e <A o <ferehiar & i fow -

(A) AR (B) & GHHI TR ]
(C) ¥ 60° TWEE (D) ¥ 90°UFAEI2
(E) Irgafaus
121 Which of the following is NOT an outcome of transgenic organism?
(A) Flavr savr variety of tomato (B) Btcotton
(C) Golden rice (D) Pusa Swarnim (Karan Rai)

(E) Question not attempted

Frafeftaa o @ i a1 giasife e o T T8t 22

(A) THTE I Fla Aot foray (B) =i
(C) Tiiee U3H (AU =1eel) (D) & I (A )
(E) SFgaid 9

122 The amoebiasis is categorised as a diseases.
(A) protozoan (B) fungal
(C) Dbacterial (D) wviral
(E) Question not attempted
s it 35 e 3 et Foen T )
(A) TS (B) A
(C) IFifE (D) IR
(E) S¥aiea g

L91]| et 32 [ P.T.O.
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Sex determination in humans is based on type chromosome

e 7 e frerfor SRR 3 TUTEA T ST B 2
(A) XY (B) XX
© XO (D) YO

(E)  Question not attempted / 3TTANT I

Identify the correct process for DNA to Protein formation-

DNA —® 5 mRNA —2); protein
(A) a :translation b : transcription
(B) a : transcription b : translation
(C) a : replication b: transcription
(D) a :replication b : translation

(E) Question not attempted

ST 8 N o= il Tl Tfehar sl gg=m &l

DNA &) mRNA &) Protein
(A) a:2EAIA b: ifreE
(B) a:2ifsraM b: ZTEAIE
(© a : (eTeh b: ‘;’Iﬁ-_saFQW
(D) a : {ecAohe b: ‘;’I’H@Q‘FT

(E) 3311\'"”\{(‘! 99

In which part of Himalayas is the ‘karewa’ land form found?

(A) Eastern Himalayas (B) Kashmir Himalayas

(C) North-Eastern Himalayas (D) Himachal — UttaraKhand Himalayas

(E) Question not attempted

TemTerT o forer WIT H “ahiaT o SATH{ ferd 2

(A) Ut femre™ (B) i femmera
(C) ST fewe™ (D) TEamE-sTTEve feaeE
(E) Irgafaus

Which of the following wild life sanctuary is situated in Rajasthan.
(A) Ramgarh Vishdhari (B) Govind

(C) Chinnar (D) Periyar

(E) Question not attempted

frafafad # 9 9 a1 o= she svRmee T | feog 27

(A) TG fereardy (B) o=
C) fo=m (D) @R
(B) Irgafaas

et 33 [ P.T.O.



127 Aizawl is capital of :

(A) Mizoram (B) Tripura
(C) Manipur (D) Nagaland
(E) Question not attempted

EIESICRIE I

(A) Tosi (B) B
(C) Hforg et (D) TS
(B) Irgafaus

128 In which year was the National Statistical Commission (NSC) setup through a resolution ?
T Hiftersht HATERT (N.S.C.) Fohe I H Hehed o AT TATfd g3 o 2
(A) 2004 (B) 2005
(C) 2008 (D) 2009
(E) Question not attempted / 3‘!@?!'?{?[ e

129 Match List-I with List-11

List-1 List-11
Folk Art Material
a. Paane L. Wood
b.  Phad II. Wall & floor
c. Mandana III. Cloth
d. Kavad IV. Paper
Hefl-1 % |1y -1 1 et shifeg
i1 Feit-11
ek helT qret
a. UM I el
b. %S I dER R
c. HiE I sH9sT
d. EIEK) IV. &S

Choose the most appropriate answer from the options given below:

it fau 7T el # @ wifereh S 3L Rl = shifsg

(A) a-1V,b-Ill,c-1I,d-1 B) a-Lb-I,c-I,d-1V
(C) a-LLb-1V,c-1I,d-1 (D) a-I,b-MLc-1,d-1IV
(E) Question not attempted / ?FIENFGT K

130 To which place of Rajasthan does Theva Art belong?
(A) Udaipur (B) Jhalawar
(C) Churu (D) Pratapgarh
(E) Question not attempted

ST T TS o forel T § Taifea 8 (STHW §8)?

(A) &L (B) HIAETS
<€ & (D) FdAm™TE
(B) Irgafaus

L91]| et 34 [ P.T.O.



131 In which year the United Nations was established ?

UYL Gl shl TATTAT hel €3 ?
(A) 1944 (B) 1945
(C) 1947 (D) 1948

(E)  Question not attempted / 3T a9y

132 ‘Battan Ri Phulwari’ from the collection of folk tales (1960-1975) writer was:
(A) Birbal Singh (B) Vijaydan Detha
(C) Kanhiya Lal Sethia (D) Gaveri Devi

(E) Question not attempted

Al HATE (1960-1975) o €T § 3G ‘A1l T § FAART” o s b 42

(A) dfiee foe (B) fosmEm e
(C) eea ot aifeam (D) a3
(E) SFgaid 9

133  Where is the secretariat of SAARC, located?

(A) New Delhi (INDIA) (B) Thimpu (BHUTAN)

(C) Kathmandu (NEPAL) (D) Dhaka (BANGLA DESH)
(E) Question not attempted

T (SAARC) =T HfaTer™ shal W fEord 82

(A) 8 ferett (s (B) foreg (312 )

(C)  hISHTE (A7) (D) TR (SFeTTaeT)

(B) Irgafaus

134 Write the full form of ‘NATO’
(A) North Atlantic Treaty Organisation (B) New Atlantic Treaty Office
(C) New Atlantic Treaty Organisation (D) North Asian Treaty Organisation
(E) Question not attempted
NATO’ 1 I AW (F i) 2-

(A) e sredifee didt STAHTRSIRE (B) =g eaifesn it iy
(C) = FAeifeeh St SATHTESIH (D) itel ot S s
(E) SFaiea o

L91]| et 35 [ P.T.O.



135 Which of the following statement is NOT correct about various folk dance forms of Rajasthan?
(A) Ghudla dance is performed only by women.
(B) Bum dance is a famous dance of Bharatpur and Alwar region.
(C) In2022, UNESCO included Valar dance form in its intangible cultural heritage list.
(D) Agni dance form of Jasanathi cult originated in Katriyasar village of Bikaner.

(E) Question not attempted

Tereer o T ot o &t o s 8§ Frefaftaa & & 19 o1 e w78t 22

(A) HSAT I hact AT o ZI T ST 2|

(B) o o STCTaR 3T WRATX & T Toh g T 2

(C) = 2022 H FFER! = ST e AT T ST S HICcrah GLIeT H it fofa o
(D) STEHTet G ST S T T SfiehT oh Shel (ATE el H Jea g1l

(E) SFgaid 9

136 Match List-I with List-11

List-I (vitamin) List-II (use)
a. Vitamin A L. Helps body to use calcium for bones and teeth
b.  Vitamin C II.  Blood clotting
c.  Vitamin D III.  Keeps eyes healthy
d.  Vitamin K IV. Help body to fight against diseases
G-I ! F=-11 | gafora i
ge-1 (Frerfam) -1 (ITFTT )
2 frIfEA L el st aidl % forg e i hferem % v
H HETT T &
b. fwifmC I S FANT
c. fIED 1L =31 o T& TEar &
d.  ffmk IV. T o T @S # IR ol et &l &
Choose the most appropriate answer from the options given below:
et fow T ferpedt 7 & wafYe ST ST g ;
(A) a-Lb-Ic-1I,d-1V B) a-ILb-IV,c-1I,d-1
(C©) a-ILb-IV,c-1,d-1I (D) a-IV,b-ILc-1I,d-1

(E)  Question not attempted / 37 a9

137 Which of the following is NOT a dominant trait in a Garden Pea as studied by Mendal?
(A) Full/inflated pod (B) Terminal flower position
(C) Yellow seed colour (D) Green pod colour
(E) Question not attempted

St feoh Heet gr srexar fopa T &, fefeifiaa o @ ol 1 T sht 7 o THE 1T 8 82

(A) T/t g8 well (B)  ifem o fearfa
(OREISTIEEIRY] (D) T HA FTTT
(B) Irgafaus

L91]| et 36 [ P.T.O.



138 Given below are two statements:
Statement (I): Single Cell Protein (SCP) is an alternate source of protein for animal and plant
nutrition.
Statement (II): Spirulina is one of the Single Cell Protein that can serve as a rich source of protein,
minerals and vitamins etc but its growth increases environmental pollution.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are correct.
(B) Both Statement (I) and Statement (II) are incorrect.
(C) Statement (I) is correct but Statement (II) is incorrect.
(D) Statement (I) is incorrect but Statement (II) is correct.

(E) Question not attempted

Frer g e g e E:

AT [: THT hITTeRT TS 3] I Tl o Aoy o FoIq S o1 O Sehfodeh |id 2

U 11: & fcr7 Tohel hITeRT TIEH & 8 Tk & S I, @it 37 forerfim o11fs o v |id & ®9 H el
T HHAT 8, Tig FHh fg TATaoT HENor H 3fg s 2|

I FHUT o AT H ARG foshedl H & Tal 3% T -

(A) A 3T SHT T B (B) U I 3 11 ST 316 B
(C) A [ 9 & foh o 11 318 2 (D) %A [ 376 8 Fohg o [ HA 2
(E) SFaiea o
139 Propanol is an:-
(A) Alkane (B) Alkyne
(C) Aldehyde (D) Alcohol
(E) Question not attempted
IO B -
(A)  3TeHd (B) 3TeHT
(C) 3IceEES (D) SAchled
(E) ¥gaiea o

140 Identify the statement, which is NOT correct for an Hypermetropic eye
(A) The near point of the eye is farther away from the normal near point (i.e. 25 cm)
(B) The defect can be corrected by using a convex lens of appropriate power
(C) The light rays are focused in front of the retina
(D) The person is not able to see the nearby objects clearly
(E) Question not attempted

3 YT il Ug=H L, ST ok el gfE Qi (ersuAgifuer) areft 93 o fore we et =
(A) T fenean foig amar=r feheam feig (25 @t & srferen T 21

(B) 3UIH ST o I <1 ShT ST L Y hl STeh TohAT ST EehalT 2l

(C) SToRTRT FoRTU fHAT o W@ ohisd Bl ol

(D) ATh TH-ITH I TG 1 TIF & § e | o oIl 2

(B) Irgafaus
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About which of the following fort has it been said that it is an armoured (Bakhtarband) fort?
(A) Siwana (B) Taragarh

(C) Nahargarh (D) Ranthambhore

(E) Question not attempted

frada e fraF A Fer TR fFae we omwe (sea e ) fhar ®

(A) foamm (B) THITE

(C) HEUTE (D) TR

(E) Irgafaus

Who constructed Hawa Mahal?

(A) Sawai Pratap Singh (B) Sawai Jai Singh
(C) Raja Man Singh (D) Raja Bhati

(E)  Question not attempted

BT HEd T 1T fohe shtamm?

(A) TS ST e (B) T <1 fife
(C) T=ToF fE' (D)  TISIT 9T

(E) Irgafaus

Captain Hawkins and Sir Thomas Roe visited the court of which Mughal Emperor?
(A) Akbar (B) Jehangir

(C) Shahjahan (D) Humayun

(E) Question not attempted

o T SITERTTE o GUER H e gifohe 3T T offre = 3 fopam?

(A) IR (B) W@
(C) et (D) T
(B) 3rgafaus

Which one of the following was in-charge of collecting revenue, keeping record of income in the
Mauryan administrative system?

(A) Lunadhyaksha (B) Purohit

(C) Sannidhata (D) Samaharta

(E) Question not attempted

HIehTet SrRTTEfeh SorTelt # FfctRad # & Toreer Seelt i1 T9HT shi o7 Siifeh 37T 3T <iem T o1

(A) reER (B) wfea

(C) wf=emar (D) wETEdl

(E) SFaiea o

Which of the following was the capital of Malla Mahajanpada?

(A) Rajpur/ Hatak (B) Videha and Mithila
(C) Kaushambi (D) Kushawati (Kushinara)

(E) Question not attempted
T HETSHYE st UseTT fefaifad & @ i €t oft?

(A) TST/ESH B) fagz o7 fuferr
(C) it (D) R (FRAAM)
(E) S¥aiea g
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146 Who was the first Teerthankara of the Jains?

(A) Padmaprabha (B) Parshwanath
(C) Rishabhnatha (D) Mahaveer Swami
(E) Question not attempted
S o oW irerfeRt i o
(A) ORI (B) UTEATY
(C) BT (D) WEER W@
(B) Irgafaus

147 Widal test is done to confirm which disease?
(A) Malaria (B) Typhoid fever
(C) AIDS (D) Dengue
(E) Question not attempted
fergTet writeror qfy =t 2
(A) Wit (B) TTEHIES F@R
(C) TSH (AIDS) (D) =T
(E) Irgafaus

148 Where should be an object be placed in front of convex lens to get a real image of the size of the
object?
(A) at the principal focus of the lens
(B) at twice the focal length
(C) atinfinity
(D) between the optical centre of the lens and its principal focus
(E) Question not attempted

Tereft forear a1 ameaTfereR e Tt wTgst T Sffers ITe S o foe forer it 3aar <9 o | ShEl wET ST
1R ?
(A) T T BT T
(B) wiehE gl o A gl
(C) AR
(D) T o eI ks 3 34k T&T BId o o<l
(B) Irgafaus
149 1If 150° is the measure of each interior angle of a regular polygon, then the number of its sides are :
ATe Tk TGS o Weeh ST 10T T AT 150° 2, T SEehT S[STT3T hl T &
A) 8 B) 6
< 5 (D) 12
(E) Question not attempted / @gﬁﬁﬁ 9T
150 In A ABC, bisectors of exterior angles £ B and £ C meet at point O. If £ A= 62°, then the measure

of ZBOC is:

TH AABC H SR #I0 £ B 3 £ C % gafgwifeid fog 0 wferd €, afe £ A= 620, &1 £ BOC 1
T 2-

(A) 62° (B) 60°

(C) 59° (D) 56°

(E)  Question not attempted / 3T g
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SPACE FOR ROUGH WORK / T% &/ & feq @

ST g # T uidt & — I Uid S fad uid, 9l geina uX e s Bied | qd aen
ST UFH DI AT Giaqdl e el Wi, sl @t fEde uia e e T8 &L | died gra
T Y Dl qo Tl Bl 30 U ST B, T&ciia Uil bl Jo 9l & e A5 9 A8 b Qe
Tadh ST T gl e dd | wdenef fadm ufq @ e | o SR
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